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Answer all the questions. !,

E.Ch quc.m'on M’ﬁ)”()lw‘d by four options ,‘,"‘,n,‘l AtoD Find the correct oprion f:};f.cﬂth q:u"_s'no" QM:M. ‘
in pencil, on your answer sﬁcd. the answer spuice W hich bears the same letter as the option you have c"“ﬁl“f.’-' o
Give only one answer to each question. An example is given below '.
What is the mcan age of the boys?

L .

The ages, in years, of four boys are 10, 12, 14 and 16.

A, 12 years .

B. |2§ years

C. 13 years

D. 13} years
The correct answer is 13 years, which is Jettered C, and therefore answer spa ce C would be shaded.

[A) (B] e (D] _.

Think carefully before you shade the answer spaces, erase completely any answer(s) you wish to change. >
Do all rough work on this question paper. ' o

- =
-

Now answer the following questions.

|fx._.!iﬁ. , which of the following represents
r —i

1. A binary operation * is defined on the set R of K
real numbers by p * ¢ = (p + g)° + 2p, where

logox?
2.9 € R Find the value of (<3 * 7) + 5. 210

log 0P % 1084

A. 27
k’s lo'
1
B. 15 B. logpp + E'oﬂm‘l'* 10g o
|
C =15 o log 0P + 510809
: log ;o7
D. -27

1
D. logyop + Sl0g1oq — log o”

2. Sonw.(r’) = il‘;(?*")- s 9(71:]‘#”'““““0@;

4
A. lord .-

.

B. lor—4 1
& 6
Cu s=lord 2
. . Bn e
3

D. ~lor-4
G2
S
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S.

Given that (3x - 1), (x + 1) and (x - 1) are the first
3 consecutive terms of an exponential sequence

(G.P). where x > ), Find the value of x.
A. 6

B.

C.

D.

Find the equation of the axis ofsymmetry of
y=-4’ +9r-13,

9
A x-i s wa—c

3
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1
13. Ifcos(y) = - 3 where 90° < y < |80°, find

cosec(y).
=3
A. 2\6
r 4
B. 3\/5
3
. = z‘/i

D. —%Ji

14. Find the equation of a circle with centre (6, - 11)
and radius 8 units.
A P+ 12x+22p+93=0
B. ¥+~ 12x-22y+93=0
C. 4y~ 12x+22p-93=0
D. X+~ 12¢-22y-93=0

15 | 4 2 2 |4 45 | Gndthe
B S -1
value of x.
A il
B =7
a7
D. 9

16. A committee of two is to be selected from
5 boys and 3 girls. What is the probability
that it will consist of a boy and a wirl”?

L2
3
E4

2
D 7
-l he "s%hi "

¢

17. Two bodies having masses of 6 kg.g] 4& <
moving in the same direction with ve
2 ms ' and 4 ms ' respectively, collide th
each other. If they stick together after ‘
find their common velocity.

A - Lomk'c SN L -
'B. 28ms '
C. 32ms' 3
D. 36ms "

18. The table shows the distnibution of marks
obtained by students in a Mathematics test. 3
Marks 1-5 | 610 11-15 | 16-20
Numberof | § 5 x 84
Students
Cumulative| 5 10 2 ¥y

*

Frequency A

Find the value of (2x + y). 33
A 38 %
B 3 " :
c. 28 S
D. 24 i

-

19. Aballis thrown vertically upwards witha

velocity of 12 ms ' Calcuueu-a_n
height reached.

[Take g = lOll
13
A, 10.0 m
B. 96m ) =
Clamaa s -
3 e
D. 6.4 m

-

s




m-=n

20. Stmplify:m ¢
Jm—n
o m-n
Jm 4+
B —a
C. Jw=In
D. Jm +n

a1 Iff(x=1)=x" -4 +3x + 2 find /(- 1),

A. 14
B. 2
C. 0
D. -6

22. The probabilities that Benita will pass French

2 3

and Twi tests are - and ” respectively. If the

two events are independent, find the probability

that she will fail in one of the subjects.

' 1
A 2
S
B. 2
L
C. s
1
D. T
23. Givmthmp=[ ; )lndﬂ‘-"[ —SS ).ﬁnd
- 2q).
6
-
(%)
B -7
(%)
o 13
-6
B; [ 13 ]
24/SCA01 Iwsc/cy
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26.

27.

- l-x
the values of x
A ~5,6
B. -4.8
C. X i | .
D. -2,10

5 - 2¢ dy =
If y= find when x =
» 4 + 3x dx
23
A ‘7-
23
B. 49
)
C 49
23
D. --.—,'
Find the acute angle between y = 2x — | and

y=3x+ L

AL~ 6P
B 79
(2R ¥ -
) AR 1Y e

Two forces F, = (3i + 5j) N and

F, = (5i = 3j) N act on a body of mass 2 kg.
Find its acceleration.

A @i+pms?

B. (2i+2)ms’

C. (A jyms?

D. (2 2)ms’



28.  Find the coordinates of the centre of the circle

Crebe- 720
Al (3.0)
B.. (3,0
0, - 3)
D (0,3 .

29. Find the coefficient of x* in the binomial

"
cxpansionof(% - 3x]-

1215
e
1215
S
135
o =6
135
D. 16
30. Evaluate:[Vox+2 dx. "
1 3
A glex+2p4c . AN
VI At 3
B, (éx+2)2+c
c. %(Jsxn)w
ksl

6

32. Aparticle of mass | kg which moves with an .’S-
initial velocity of (~2i + 2j) ms ', reaches a
final velocity of (27 + 5f) ms~". Find the
magnitude of the change in momentum,

A. 6Ns

B.

C. 32 N

D. 2\/2- Ns

5 Ns

33. Find the coefficient of «* in the bino

9
expansionof(y’ - %) :

14 12 -
A. 27 A(;__’ .1'

=y 19y v
—
o8

3. Consider the following statements: _

P ltis cold
q : It rains
Which of the following represents the
Statements. "whenever it rains, it is cold"?

A P AQq
B. QAp
& P=q
D. g =p .

35. Given that y - 6L 1 % Jres

24/SCA01 Iwsc/ey

-, 10}, |
:nd }:Azszmmd and Q = lyms_ét!ggg
A (2
R (R TR i &
C. {3.57
D.  {4,6.8.10}




A force of 180 Nacts on a body of mass.

of .

30 kg initially at rest. If it moves a dmauco f
0

147 m along a straight line for :
1 seconds,
the value of 1. % find

A 14
Bi 212
G
D. 6

A commiltee ol‘ﬁ : m

onw




